C:# Moltiplicazioni con le griglie Nome:

Usalegriglie per risolvere ogni operazione. Risposte

1) 45x59 = 2) 49x59 =

1.

: ! 2

: 3

_____________________ 4

5.

6.
3 39x16 = 4 37x13=
5) 37x48 = 6) 37x14 =
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Moltiplicazioni con le griglie Nome: Soluzioni
Usalegriglie per risolvere ogni operazione. Risposte
1) 45x59 = 2) 49x59 =
50 9 50 9 2.655
2.891
40 y : d 40 (40 x 50) (1'10 x 9)
(43.0030) (:212604 2:000 + 360 624
N A . 481
N CE M T : ©Ox0
250 45 40U [e NN 1 776
518
3 39x16= 4) 37x13=
10 6 10 3

30 (30 x 1030 x 6)
300 180

9 (9% 1009 % 6
90 ' 54
5) 37x48 =
40 8

30 (30 x 40) (30x 8
1.200 1 240

7 (7 x 40) (7x8
280 ' o6

301 (30 x 1g8p x|3)

300

70

7| (7x 100 % B)

121

6) 37x14=
10

30 |(30 x 10030 x ¥)

300

70

T 7 x10)(7 x 4

128
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